8+6=
3+49=
2
Q*)h 9=y
9+5=

9+3=

8+8=

7+4=
5+7=
8+4=

5+6=

(s |p+4=

9+6+4+5=

8+7+2+3=

> (712): |2

B+ ( 1+l\§-\t{

N

9+5=

Ol'F(H.LD 1y 74(349

7+8=

8+5= 6+7=
7+6= 8+4=
5+7= 6+9=
9+9= 8+3=
6+8= 3+9=
5+8= 5+9=
8+9= 7+6=
6+7= 6+9=

8+5+2=

9+5+1+8=

7+8+5+6=

):\S



ﬁ; Creating Equations from Arrays Name:

Write each array as an addition problem and solve. ANSWeErs
Ex) OO ) O000O0 2) W -
oo 00000 * # f 232=4%

00000 oY o
Q0000 W 15+SI-S+S+S:SKS=3
00000 oY o '
3 13+3+3M3< 8K
G+5¢5=
3.
3) 00000 4 A 5 000909
oReRoRoRe; ¥4 \VAVAVEVEV 4
(oReReRORG;
5.
6.
7.
6) XX XX HnAAAA §) € CCCKL
XXX AAAA CCqCqC« 8.
XHX XX AAAA CCCqC(
XX XX AAAA € 9.
XXX
10.
11,
9 00O 100 © ¢ 1) OO0
000 00 0000 2
000 L
OO 13.
14.
12) O 9 13) €0 0 14 AAAA
AV, 00 AAAA
AY, OO0 AAAA
9 OO0
AV,

: : 1-10 [93 [86 [ 79[ 71 [ 64]57]50] 43 |36 29|
Math www.CommonCoreSheets.com ]-O 11-1421 | 14{ 7 | O




Partitioning Rectangles

rtition the shape as described and then count to find the number of boxes.

Rows go left and right.

Columns go up and down.

This has 4 rows and 5 columns\
There are 20 boxes total.

1) 4 rows
4 colunmbL{'

v
1

]

4) 3 rows
5 columns

7) 5 rows
3 columns

: Math ]www.ComlnonCm‘cShccts,com

2) 3 rows
4 columns {,

%

5) 5 rows
4 columns

8) 5 rows
2 columns

!

3) 2 rows

92

4 columns

!

6) 4 rows

2 columns

9) 2 rows

2 columns

10

44=16
3Ky =)2
Xy = %

1-9 [89]78]67]56]44[33]22]11] 0|




@mz ALY X0 = 2€% (0 = 2 §0

3x500 = ?DXS)(\OO—' I§Kl00 = (<00

6x6=_bb X 6 X 5= 26%x\5 = 36
8x.04=_ LV Yvibe = 32-7“1_6La = 0 3L

30x60 =

90 x 400 =

soxa= S X Y x/DX,—!; =20 x 1 - 20

60 x .05 =

500x 30 =

400 x 200 =

900 x.7 =

300x .06 =

8x20=

7 x 200 =

8x.5=

3x.09=

70x 60 =

80x700=

40x 9=

70x.05=

800x90 =

300 x 600 =

soox8= O X § X IO)\,QXﬁ =40x¥ (0= L(OD

700 x .08 =




ﬁh Understanding Multiplying By 10s, 100s & 1,000s Name:

Determine the answer to the following problems.

1) If3x6=18 , then3x6,000= [F OO

2) If2x1=2
3)
4) If 7 x 6 =42
5) If2x5=10
6) If8 x3=24
7) If8 x 8 = 64
8) If8 x 5=140
9) If5 x 8 =40
10) If7 x 7=49
11) If7 x 8 =56
12) If5x9=45
13) If4x4=16
14) If9 x 9 =381
15) If9 x 5=45
16) 1f9 x 3 =27
17) If9 x 4=36
18) If5x1=5
19)

20) If8x 1=38

2

k]

¥

3

3

then 20 x 1 =

then 70 x 6 =
then 2 x 50 =
then 800 x 3 =
then 8 x 80 =
then 800 x 5 =
then 5 x 80 =
then 700 x 7 =
then 7 x 80 =
then 5,000 x 9 =
then 4 x 4,000 =
then 9,000 x 9=
then 9 x 5,000 =
then 900 x 3 =
then 9 x 400 =

then 500 x 1 =

If5x4=20 , then5 x4,000=

then 80 x 1 =

20

If6x6=36 , then6x600= 34 OO

20.

Answers

: Math ]www.ComlnonCm‘cShccts,com ]-0

1-10
11-20

95

90

85

80

75

70

65

60

45

40

35

30

25

20

15

10
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